Language Arts (Year 6 SJK English textbook page 83)

Click on the correct answers.

1. How many characters are there in the play?

There are four characters in the play.

There are five characters in the play.

2. Was the entrepreneur creative? Give reasons for you answer

Yes, the entrepreneur is creative because he helped others.

Yes, the entrepreneur is creative because he has created a new device.

Match people with their problems.

3. Name the people who have problems? What are their problems?

(i) Waiter Don’t have the right gardening tools.

(ii) Reporter His business his making him very tired.

(i) Cat groomer p : =
His cat’s fur is so tangled up and dirty.

(iv) Gardener

Will lose his job if didn't write a great story by tomorrow

toLIVEWORKSHEETS



